

NOMBRE:

FECHA:

Resuelve:

Ejemplo: $2 \times (5 - 3) = 2 \times 5 - 2 \times 3 = 10 - 6 = 4$

$$4 \times (6 + 5) = \quad = \quad =$$

$$5 \times (3 + 5) = \quad = \quad =$$

$$7 \times (9 - 5) = \quad = \quad =$$

$$3 \times (5 + 3) = \quad = \quad =$$

$$8 \times (7 + 5) = \quad = \quad =$$

$$9 \times (7 - 5) = \quad = \quad =$$

$$6 \times (4 + 5) = \quad = \quad =$$

$$4 \times (9 - 5) = \quad = \quad =$$

$$5 \times (2 + 5) = \quad = \quad =$$

$$7 \times (6 - 5) = \quad = \quad =$$

Haz estas multiplicaciones con rejilla:

436 x 24

649 x 37
